Potencias de 10 (A)

Calcule los siguientes productos y cocientes.

2.5015 x 0.01

5.6835 x 10

5.6165 x 100

8.8113 x 1000

8.5732 x 100

7.4038 =100

4.0994 x 10

5.2974 x 1000

2.3749 x 1

2.324 =1

9.2759 = 1000

1.8854 + 1000

6.1165 x 100

2.9873 x 1000

4.1218 +0.01

7.9153 +-0.001

1.4285+1

7.3436+100

9.0226 0.1

5.4451 x 1000
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Potencias de 10 (A) Respuestas

Calcule los siguientes productos y cocientes.

2.5015 x 0.01
0.025015
5.6835 x 10
56.835
5.6165 x 100
561.65
8.8113 x 1000
8,811.3
8.5732 x 100
857.32
7.4038 = 100
0.074038
4.0994 x 10
40.994
5.2974 x 1000
5,297.4
2.3749 x 1
2.3749
2.324 = 1
2.324

9.2759 + 1000
0.0092759
1.8854 -+ 1000
0.0018854
6.1165 x 100
611.65
2.9873 x 1000
2,987.3

4.1218 = 0.01
412.18
7.9153 +0.001
7,915.3
1.4285 =1
1.4285
7.3436 + 100
0.073436
9.0226 + 0.1
90.226
5.4451 x 1000
5,445.1
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